
Filbyter Bridge

2013-03-10  DM LAG 13:1 Slutresultat
14 bord, 28 par. Antal brickor: 8. IMP över fältet.

Plac Par Poäng Namn Klubb

1 101 5,06 Gullvi Högberg - Per Larsson Falköpings BS
2 206 3,66 Daniel Gustavsson - Ulrik Christensen Falköpings BS
3 202 2,03 Jan Unosson - Gunnar Löngårdh Borås BA
4 107 1,93 Roland Andersson - Morgan Wiklander Vårgårda BS
5 106 1,82 Sten Gustavsson - Rune Karlsson Falköpings BS

6 201 1,70 Rolf Bäck - Ricky Johansson Borås BA
7 203 1,64 Hans Brolin - Björn Westling Borås BA
8 304 1,61 Ann-Sofie Axelsson - Annika Sandberg Skövde BA
9 102 1,32 Gunnel Svensson - Jan Larsson Borås BA

10 4 0,73 Benny Olsson - Christer Swenson Skövde BA

11 205 0,67 Bo Roos - Sören Lennartsson Skara BS - Falköpings BS
12 103 0,57 Jaenita Johansson - Sten Öman Borås BA
13 207 0,30 Thomas Johansson - Mark Strandell Vårgårda BS
14 105 0,19 Björn Thalén - Henrik Noberius Skara BS
15 305 -0,19 Eva-Lill Andersson - Ceve Eldh Hjo BS - Skövde BA

16 7 -0,30 Gunder Persson - Sixten Ek Skövde BA
17 303 -0,57 Jerry Eklöf - Kjell Karlsson Skövde BA
18 5 -0,67 Hans Friberg - Connie Friberg Skara BS
19 204 -0,73 Sven-Göran Lennartsson - Göran Andersson Herrljunga BK
20 302 -1,32 Dagny Danielsson - Pia Malmgren Köpings BS - Skövde BA

21 104 -1,61 Wolfgang Kegel - Ove Lundgren Levene BK - Herrljunga BK
22 3 -1,64 Jarl Hallberg - Karl-Erik Karlsson Skövde BA
23 1 -1,70 Håkan Gustafsson - Väinö Bistsjö Skövde BA
24 306 -1,82 Göran Levan - Carl Ek Skövde BA
25 307 -1,93 Kurt Karlsson - Åke Bergman Skövde BA - Hjo BS

26 2 -2,03 Ann Ohlsson - Lilian Helgeson Tibro BK - Skövde BA
27 6 -3,66 Leif Axelsson - Markus Hedström Skövde BA
28 301 -5,06 Arnold Ivansson - Niklas Lundberg Stenstorps BK - Skövde BA



Filbyter Bridge

2013-03-10  DM LAG 13:1 Slutresultat
14 bord, 28 par. Antal brickor: 8. IMP över fältet.

Par Kontr Ut Resultat Poäng

1

D102
Kkn1053
102
K106

E7
ED76
KD9
D984

kn98
982
kn64
Ekn52

K6543
4
E8753
73

4 204 3N N +3 ♣2 490       71 -71
101 301 3N N +3 ♦4 490       71 -71

7 207 4♠ N +1 ♥8 450       57 -57
6 206 3N N = ♣3 400       37 -37

103 303 3N N = ♣8 400       37 -37
106 306 3N N = ♣2 400       37 -37

5 205 2♠ N +3 ♥2 200       -26 26
102 302 2♠ N +3 ♥2 200       -26 26
105 305 3♠ S +2 ♥K 200       -26 26

3 203 2♠ S +2 ♦4 170       -40 40
1 201 1N N +2 ♠9 150       -48 48

107 307 2N N +1 ♣2 150       -48 48
2 202 2♠ N +1 ♠8 140       -48 48

104 304 2♠ N +1 ♦4 140       -48 48

Par Kontr Ut Resultat Poäng

2

ED96
E7543
D
K63

kn4
82
753
Ekn9754

K873
---
K108642
D108

1052
KDkn1096
Ekn9
2

102 302 2♥ S = ♦D 110       93 -93
104 304 3N Ö -2 ♥2 100       93 -93

4 204 2♥ S -1 ♦D -100 32 -32
101 301 2♥ S -1 ♦D -100 32 -32
106 306 2♥ S -1 ♦D -100 32 -32
103 303 3♦ Ö +1 ♥K -130 21 -21
107 307 3♦ Ö +1 ♥6 -130 21 -21
105 305 3♠ Ö = ♣2 -140 18 -18

1 201 3♠ Ö +1 ♣2 -170 7 -7
7 207 3♥x S -1 ♦D -200 -4 4
3 203 4♠ V = ♣2 -420 -74 74
5 205 4♠ Ö +1 ♣2 -450 -79 79
2 202 3♥x N -2 ♦D -500 -96 96
6 206 5♠x S -2 ♠E -500 -96 96

Par Kontr Ut Resultat Poäng

3

K863
KD3
52
Ekn52

Ekn109
kn964
K96
D7

742
E85
kn8
K9643

D5
1072
ED10743
108

102 302 3♠ V -4 ♦6 400       92 -92
4 204 3♣ V -2 ♦6 200       30 -30
7 207 2♠ V -2 ♦6 200       30 -30

103 303 4♣ Ö -2 ♠D 200       30 -30
107 307 2♠ V -2 ♦6 200       30 -30
101 301 4♦ S = ♣E 130       5 -5

2 202 3♦ S = ♣E 110       -8 8
104 304 3♦ S = ♠7 110       -8 8
106 306 3♦ N = ♦2 110       -8 8

5 205 1N Ö -1 ♦7 100       -8 8
105 305 4♣ Ö -1 ♦3 100       -8 8

1 201 3♦ S -1 ♥K -50 -59 59
3 203 3♦ N -1 ♥K -50 -59 59
6 206 3♦ S -1 ♥D -50 -59 59

Par Kontr Ut Resultat Poäng

4

D965
EK10
Kkn
10763

kn3
D54
86432
K54

10872
kn9632
E5
E8

EK4
87
D1097
Dkn92

5 205 4♠ V -1 ♠3 100       44 -44
7 207 3♠ V -1 ♦4 100       44 -44

102 302 3♠ V -1 ♣4 100       44 -44
104 304 3♠ V -1 ♦2 100       44 -44
105 305 4♠ V -1 ♦2 100       44 -44
106 306 3♠ V -1 ♦6 100       44 -44

4 204 Pass 0       9 -9
3 203 2♠ V = ♦8 -110 -27 27

103 303 2♠ V = ♦3 -110 -27 27
1 201 3♠ V = ♣4 -140 -41 41
2 202 2♠ V +1 ♦8 -140 -41 41
6 206 2♥ Ö +1 ♠E -140 -41 41

101 301 2♠ Ö +1 ♥4 -140 -41 41
107 307 2♠ Ö +2 ♣4 -170 -55 55

Par Kontr Ut Resultat Poäng

5

EKkn7543
E75
ED
3

96
kn4
1093
EK10752

D82
K963
K86
D94

10
D1082
kn7542
kn86

101 301 6♥ V -5 ♦10 250       171 -171
2 202 4♠ V +2 ♣E -480 43 -43
4 204 4♠ V +2 ♣E -480 43 -43
5 205 4♠ V +2 ♣E -480 43 -43

102 302 4♠ V +2 ♣E -480 43 -43
103 303 4♠ V +2 ♦10 -480 43 -43
105 305 4♠ V +2 ♣E -480 43 -43
106 306 4♠ V +2 ♣E -480 43 -43
107 307 4♠ Ö +2 ♣E -480 43 -43

1 201 6♠ V = ♣E -980 -103 103
3 203 6♠ V = ♣E -980 -103 103
6 206 6♠ V = ♣E -980 -103 103
7 207 6♠ V = ♣E -980 -103 103

104 304 6♠ V = ♣E -980 -103 103

Par Kontr Ut Resultat Poäng

6

EDkn73
K54
K92
ED

K1042
E73
Dkn
Kkn63

86
10862
E753
982

95
Dkn9
10864
10754

107 307 3N Ö -3 ♥kn 300       101 -101
105 305 1N N +1 ♠8 120       47 -47

3 203 1♠ Ö -1 ♦kn 100       40 -40
5 205 3N V -1 ♣3 100       40 -40

101 301 2♠ V -1 ♦D 100       40 -40
4 204 1N N -1 ♥6 -50 -12 12
1 201 1♠ V = ♦D -80 -25 25
2 202 1♠ V = ♦D -80 -25 25

102 302 1♠ V = ♦D -80 -25 25
103 303 1♠ V = ♣6 -80 -25 25
106 306 1♠ V = ♦D -80 -25 25

6 206 1♠ Ö +1 ♥D -110 -35 35
7 207 1♠ V +1 ♦D -110 -35 35

104 304 2N V +2 ♥3 -180 -61 61



Filbyter Bridge

2013-03-10  DM LAG 13:1 Slutresultat
14 bord, 28 par. Antal brickor: 8. IMP över fältet.

Par Kontr Ut Resultat Poäng

7

D6
106432
D83
D82

E2
kn95
K752
9653

Kkn93
K7
1096
kn1074

108754
ED8
Ekn4
EK

107 307 3N N +2 ♥4 660       118 -118
101 301 3N N +1 ♣kn 630       106 -106

1 201 3N N = ♣10 600       101 -101
3 203 3N N = ♦10 600       101 -101

106 306 3N S = ♥2 600       101 -101
7 207 2N N +1 ♣kn 150       -11 11

103 303 2N N +1 ♣9 150       -11 11
2 202 1N N = ♣4 90       -27 27
4 204 3N N -1 ♣7 -100 -75 75
5 205 3N N -1 ♣kn -100 -75 75
6 206 3N N -1 ♣10 -100 -75 75

102 302 3N N -1 ♣kn -100 -75 75
104 304 3N N -1 ♣kn -100 -75 75
105 305 3N N -2 ♣3 -200 -103 103

Par Kontr Ut Resultat Poäng

8

98
EKDkn1065
E10
92

E1064
8732
953
kn7

KD532
9
KDkn42
K10

kn7
4
876
ED86543

101 301 5♠ Ö -1 ♣E 50       142 -142
105 305 4♥ V = ♣kn -420 5 -5

1 201 4♥ V +1 ♣kn -450 -9 9
2 202 4♥ V +1 ♣kn -450 -9 9
3 203 4♥ V +1 ♣kn -450 -9 9
5 205 4♥ V +1 ♣kn -450 -9 9
6 206 4♥ V +1 ♣kn -450 -9 9
7 207 4♥ V +1 ♣kn -450 -9 9

102 302 4♥ V +1 ♣kn -450 -9 9
103 303 4♥ V +1 ♣kn -450 -9 9
104 304 5♥ V = ♣kn -450 -9 9
107 307 4♥ Ö +1 ♣kn -450 -9 9

4 204 4♥ V +2 ♥2 -480 -22 22
106 306 3N Ö +4 ♣2 -520 -35 35


